A LITTLE BIT OF MATHS EVERY DAY ... (CROSSOVER)
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T travel from "A" +o "B" at an average speed of 50 mph.
T thew travel from "B" o "C", which is 210 wiles at an average
speed of 70 mph.

2 3 _| 13 Wy total journey time is 5 hours.
1 — Tg Wlamwss my A\/@mc&)e speed for the total distance travelled from
) Arb 8- A7 B1s = 6Lmpu
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Factorise fully Work out the value of Solve Write these in size Simplify fully A TV is reduced by 207 n a sale.
4Aab +12a%0* order - from smallest
(3 x10%) + (6 x107) 23 =120 +o largest m%> x m® The sale price of the television is £350 ¢ -702
1 +3ab 3108 psx 10 q. s 3 1871 3 3-S
A‘ab( 3 ) 6_1—13{ 0 55‘ o x°= ‘I:"" 26 L"% "": o m m Work ot the vormal price of +he television.
: o= 27 47 1° 64 £500
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‘Rob;r;\;w:szwaj—;d coiw; w\ﬁ Without a T nvest some movey in List all the What is the value of An adult meal costs £4.50 and a childs meal costs
probability tha € coln wi accomt that pays componnd . < g N
lawd on heads is 0.6. Gﬁldl/l[ﬂ‘h)l’, work interest of 5% per anium. ‘F&w‘t’()l’"S O‘F % 2 w? E;: : g? - ﬁ:éb £z % “,;Li;soo
What is the probability of . 22 %x2n =2 . 2
flipping the co’miw@e ﬂv:es out: JrHsWJrWZVM;[@MS docs ”; e b , 816,32 %r\ 8 a Will £500 be enough to pay for meals for 4 adults and
and getting a tails all hree 2449 x 54 a6 o douic g moneq 42 children?
O Lx0L fimes? -0 -Obly 18848 Q yeoss ws £493-504 £500
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Simplify Draw a ven diagraim Calcnlate: Expand and simplify The length, L om, of a peucil 1§ Adam thinks of a4 number. 8
5 r»epresevﬁ*m@ +he below: (x+4)(x- ) is measured as 1Fem correct 1\,(, He divides his vamber by ¢ *6 <3
20+ 2(3a-5) E=4,2 3,4,}5, 6,199, 3 1 22 -2 - 20 +o the nearest centimetre. 8 He then adds 12 +13= b
10 : : :
de?+ bo-10 A= feven wimbers} 3=x 2= Axq(2x+ 3Y) yatis e errer terval of to His answer is 16 v
B = fmultiples of 23369 5 7 8:2:23 . I‘Q’xdz 16-SC L < 13- What number did Adam first think of?‘l
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3 & 3 | oops 1] 28 29 30 31
EXP&IVIO{ & SiVMPIi]C\{ Simplify Lois awd?zﬂaeﬁ* shm g spm Estimate Find the fourth +erm A box is on a +able.
311:1 + 63&3 *"(‘j 'ld'l. of money in the ratio 2.5 of +this quadratic The area of the box in contact with +he +able is 1500cm>.
4e + Gf + 26 - 2f Lols has £45 more than 6.8x191 #x200 . The pressure on the table is 2@ newtons/m=,
(Zx +y)(x + 24) - - Robert. How much does T — Seauence;
Y v _4 " L&p Rovert ZE}S 0.051 o0S ! >, * %1 2 Work out the force exerted by the box on the t+able.
e overt have? n +3n-2 .
N 2 . . F F<:PxA = 28 x0-01S
3ot Ty + 2y 3036 28000 - 2 &
= A = 042N
w, w
REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!
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